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                          Isoquants 

Marginal rate of factor substitution 

 

The marginal rate of substitution is the amount of 

one factor (e.g. K) that can be replaced by one factor 

(e.g. L). If 2 units of capital could be replaced with 

one-factor labour, the MRS would be 2 

 

Diminishing marginal rate of substitution 



 

If the firm employs 2 L and 40 K. Then employing 

one extra worker can enable it to save 10K. This is 

quite an efficient saving. The firm only has to pay 

one extra worker but can save the cost of 40. 

 


